HERER TEFRHRE B=H
R5 + R6
14 24 34 44
. " ; i fz i ﬁﬁfﬁﬁﬁﬁa i ﬁﬁtﬁﬂﬁﬁi gg i %kﬁmaﬁi gg
Bk oo H o#E 2 2 2
- S G (4 2 2 2
EZE I I 7] 2 | k1 3%) 2~3 | 2 4
mooE B G * 1 * 1 *1 *1 | 0~1
ST 1 | 0~1
tﬂﬁ@mm HO®R A 2 2 2
BB R A 2 2 2
N Bl Bl 2 2 2
%% 2 I 2 1 3 3
# = A 2 (3FLISH) 0~2 2
e K A B 2 2
FEOe B L O * 1 * 1 *1 *1 | 0~1
% % ®W B 1 0~1
a A B e AmMAEE 2 2 2
o K 2 2 2
s #l o2 2 | K1 (3%) 2 6~7| 2 8
TREEET |1 2 I 1 2 2
2z K = 1 | 0~1
. i I 2 | 2 | 2
® W I J ]
WA Iaz—varl 2 2 4 4
A WO #® # 1 (3zLh) 0~1] 2 3
MmoOE O FH * 1 * 1 *1 *1 | 0~1
s FEOH OH 1 0~1
% i ES A | 2 2 2
# & % & - M A & 13~16 12~13 11~13 37~41 8~12 46~53
o r omom| 4 4 4
B L F oW 2 2 2
wooAa £ FH 1 3(1) 3(1) 1 (1 8
A WM O % 3 (3%) 0~3| 3 3
e e 2 2 s | 2 6
R e T B A3 A2
IS G A3 A2 5 5
oW E 2 2 2
EMH% & - HAB 7 8 7~10 22~25 8 30
HRBG (3 £ £ £ #| 20~23 21 21 o
& B oumEmsss) 14~20
4 £ F % & 20~23 20 20 60~63 16~20 76~83
FpyT | FYUTHEEI *1 0~1 0~1
S N *1 *1 | 0~1 *1 | 0~1
AB e H A 1 1 1
A — A L — A 1 1 1 3 1 4
3 £ F £ # 21~25 23~24 22 80~91
# Bt QUBGERSHE LD 14~20
4 & F ¥ | 21~25 22~23 21 64~69 17~21 81~90
(1) ( ) VI R B AR IR TN B AR,

- ARNTEEOBNELA T,

- EATRFE L TSR T
- A QHAD) 1.

W 1R E 2RI D,
S KEIOHBARRFBIZOMREICES, BEFERELZL LTHRMRER 1 HOAL LTS,
[EET)] LV 1IRAZRRT 2,

JRE LM EERR) OREZS > TRET 2,
- REAMZRERIEORERT BHAALD) 1, AERZE (RERRA) OREE L TREELT 5,




